Edexcel Paper 1H Practice Booklet

20 practice gquestions based on the advance information
Copies of this booklet, as well as hints & solutions, are available at bossmaths.com/advanceinfo

Question 1

4
Which is greater, 3 of 87 g or 14% of 800 g?

Lef 87 = 94 \ 7 of 8D = 4— f 30O = B
#H g >  CREEAU ‘DD x\y
%oc 37 = b \uk of 8D = |\

So %OQ (&73 \S 61‘@&0’

Question 2

Write 3.8 X 10" as a product of prime factors.

39&)(\07‘L = 28 X 10 7«\0"

6
= 3% x \0

1]

6
2 x\4 % (2x5)

6
2. X\ X 2" x5

(L

3 6
2 %5 A4
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Question 3

(a) Complete the table of values for y = 2° -2z — 4

-2

-1

0

)

-\

-4

- i

(b) On the grid, draw the graph of y = 2* =2z — 4 for values of z from —2 to 3.

Y,
4

(c) By drawing a suitable straight line, use your graph to find estimates for the solutions of

xt— % +

7 -3r+1=0

+ X

= 'X,z —2’)(_ ——L| =
ESHMU‘ seliky et - x=0h, x= 2.6
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Question 4

Simplify each of these expressions as far as possible.

(@svHE-sy1T = 5 [y J)y - 8
= gx2{n - =

(b) /34 x /17

1)

Ex\’-‘— = \_"’E

(]

wn -2 = 20

T« - 2 x[Fx07)

(c) =Tz —3(9 — 22 = _71 + —-3(.q——21)

= —Fx -2F 4+ é%

= - -2F

—~— M shdeats 3o

wroy here |

Question 5

Expand and simplify (z — 3)(z + 10)(z + 3)

@-3) (> +10) (x+3)
= (x* 4 Fx -39 (2+3)

= 2P %l T2
‘ZD’C —‘\0

1]

= 2 10" —%x —90

"
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Question 6

2
Work out <8 x 10" )_5, writing your answer in standard form. \

)

(% y \D\S >-2-3_

4

-\

X 10°)

0.25 % 8"

i ((Q X \osy)_\

-\ -0
= 4 X0

2.5 % \0

Question 7

A cuboid has length z cm, width y cm, and height 9 cm.

You are given that 3z + 8 <29 and that 18 — 3y > 12.

Calculate the upper bound for the surface area of the cuboid.

2x + 3 €29

= P < 2|\

> » <7

Dsing e opper bonds br
= od ¥°

/ 4&01 z
Qem 03wt [
Fom ol

Surbace oren
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Question 8

The diagram shows the lengths, in centimetres, of the sides of a right-angled triangle.
Find the value of .

2z+3

Qs\kaﬁms‘ bheorem => (9-”‘ t 3>2 & (’1 '\)1 = Q—‘Tb) 2

= A 2 A9 ¥ -2 AL = \20
2> B 4+\0x 410 = 130
= Gt 10 - \20 = 0
= 21 N Lx — 24 = 0
2 (e v (x -4) =0

Ths Yoa Ao solubions: %= -6 x =4

\E o= -6 ) bea -\ od 2x 13 ore aeﬁol'ime.,
which doest't moke Qenge in this conbesct .

So x= 4
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Question 9

The interior angles of a triangle are p°, ¢°, and 7°.
You are given that p = ¢—12 and r = 2p + 20. & ‘Tvu's fn@o rmo‘l'\'d\
Find the mean of p, ¢, and 7. .

1S wAnecessany.

P g, od r must odd wp o 1.

S Y meam is 180 _ (0.
3

Question 10

(a) Write 0.103 as fraction in its simplest form.

Qo x= 1002 102

lek > = 0. 1030302..- TR
Tea \00x = 10-3030303... 2 7
Shlwdk x = O 1030 TR

gk 44w = 10-2

(b) A bag contains 330 sweets. The probability of picking an orange sweet from this bag is 0.103.
How many orange sweets are in the bag?

We wmll exgeck be tin b come p heads

A 24 \
155 or 230 GQ “\L \"M 3_30 b(l 20 s Bll.
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Question 11

The graph shows the distance covered by a cyclist for 6 seconds.

Distance s ! L(

(m)

0 1 2 3 - 5 6

Time (s)

(a) Estimate the speed of the cyclist at the moment she had travelled 5 metres.

(mlm\koﬁa h o 9

AAS\'MQ,« hme owrve L

(b) Here are four sketches of speed-time graphs. Circle the sketch that represents the cyclist’s speed
during the six-second period shown above.

Speed Speed
(m/s) (m/s)

Time (s) Time (s)

Speed
(m/s)

Time (s)
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Question 12

The diagram shows pentagon. Various angles are marked on the diagram.
Show that the ratio of the pentagon’s largest interior angle to its smallest interior angle is 5 : 3

\ntesor 0v~31ts odd w
to  SX 18 —3k0°

()

S840

250°

[}
[\)
[0¢]
ot
[}
\

s4o — (W0 x\2o 4104 75)
= sh0 - LS \25°

"

Question 13

There are two biscuit tins. Each tin contains a mix of chocolate biscuits and plain biscuits.
The ratio of chocolate biscuits to plain biscuits in the first tin is 3 : 7

The ratio of chocolate biscuits to plain biscuits in the second tin is 4 : 1.

Enda picks at random one biscuit from each tin.

Work out the probability that Enda picks two chocolate biscuits.

>, 4 _ \2_ 6 .
\O X S o - ” oc 024 oc 4%
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Question 14
This triangle has area \/7<: cm”. Find the value of k.

hyp gn(30) = AP
b&c@’ Gopr_zm & \““9
30° [ ] ~ \’7_= %
05&‘ 23 em
: t = opp * 2 o~
cos(30) = o4
e Area = \7_ » base x \1&3\&
S5 B, \
2 4 = 5% 213 X 2
= 0&&: Qﬁ M = 2E U"Iz = \ZC«“'\L
so k=\2

Question 15

An aluminium alloy has a density of 3 g/cm®.
A cube of mass 375 g is made of this aluminium alloy.
Work out the side length of the cube.

Deagity = _Mass Qde | W In om
ls vo'\p-lhb e‘\ﬁ
- 3,‘ 25
33 IU'\% = 3_“'53 l
\[o\m

le. Side \u\gﬂs = Sem’

:? VD\)J.MQ. = %153
Bglew

\2S cm?

i)

Page 9 of 14 © BossMaths 2022



Question 16

This cumulative frequency graph shows information about the heights, in cm, of rowers at a rowing
club.

Cumulative
frequency

80
76 o

X

70

60
ct

50

40 3%

30

20 q

10

160 170 & 1802 % 190 200

Medion
Height (cm)

Work out an estimate for the interquartile range of heights of the rowers.

Eshinebed TR = Qy-Q,
= 1365 - \F5

= \1.5 ~ or Soweudla Cose — exomiaess
uuwallﬁ ollsw sowme (eetimy.
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Question 17
OAD and OBC(C are sectors of circles with centre O.

The points O, A, and B lie on a straight line. Similarly, the points O, D, and C'lie on a straight
line.

OB has length 13 cm and OD has length 12 cm.

&

N

A
gD

Find, in terms of z, the shaded area ABCD in cm’.

12
hees of gedoe OBC = %XT‘-XYS = ?“

T2
Aremoc ek OAN = wXT\'X\?- T 5

|
=

Shaded ooen ABCD = gﬂ L, p
5
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Question 18
(a) z+2 z+3

can be written in the form

N N 5 , where a and b are integers.
T— T+ T+

Work out the values of a and b.

Er) X)) (nd)
bc—\) () bc-\) ()

Y

o 4 3% 42) (x40 3)
(oc-\) (e V) (ac-\) (e V)

x + S

. go GO= 5) \9='\
x" -\

1002 1003
999 1001

Sukshhbe %= 1000 obove  to gek

(b) Hence, or otherwise, work out

B2 _ (o3 (0o0i S 1005
QI \ool Lo —\ 294,429

(l
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Question 19

The diagram shows the points, X, Y, and Z.

The vector XZ = -a - 5b
The vector YZ = 4a - 3b

@ is the point on XY such that X@Q: QY =5:1

Find the vector Z(@ in terms of a and b.

—

— —>
XY = KZ + 2¥
-0-Sb + La*3b (27 . 32
da — 2%

1

—> —> — -
ZQ = ZX x| AQ - _’"‘ o
S
. — XQ‘—‘ZX\I
= ZX TR
T a¥sh +|s(@a=2p
= Y5 + S —-5S)
— — ‘L’ 3_
= 2424+ 15y y So —5)
2 3 22— 33—
- + \o
7_9‘. ‘\'3‘]2.
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Question 20

(a) The point A has coordinates (7, 3). Given that A lies on the circle with equation 2* + 3 = k,
find the value of £.

15y 3 =X

=7 4814 = X = Y= SR

ﬂ- : @3)
NI

(b) Find the equation of the tangent to the circle at A, giving your answer in the form y = mz + ¢

_“’\c l(m\quc \S \)er?epo\ic»\ﬂ' \‘D Yo th% o& (.7)Z)

The codius has grodienk 3?
... ‘»\ aD‘A‘U\k "1
e \'oaﬂudr as gr -

4-3 = E(x-F) - Far A

SR TR T SN SN
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